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BEES Rt X HEE(H) =
1| R 1,884,000
200EXEET 860,000
3|ERBETH 2,417,500
4{ILELTH 3,600,000
5| KA™ 1,125,000
6|EUG T 6,487,500
17 IVTAH 4,057,500
8|dtAth 14,396,500
9| 1,125,000

10 E MR 3,017,000
1| EERE™ 3,377,500
12| BT 6,036,000
13| R 525,000
14| 1| =48RBT 2,001,500
15| &I &T 1,312,500
16| & ZEHET 7,396,000
17| &R HET 4,087,500
18|= L JIIET 2,855,500
19| EEFT 1,575,000
20| Fa 4T 900,000
21 (B EHH 900,000
22| LU A%t 375,000
23 (ISR 44 1,637,500
24| LA O BT 3,600,000
25(/NEF 550,000
26| FHR LAY 1,175,500
27§iﬁm$%:7ﬁﬁﬁ 1,500,000
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